Fibersteel

145 South Irwindale Ave Azusa, CA 91702 6263340404

info@fibersteel.com

Invoice	29709
Date	3/26/2024

Bill To	Ship To	

Part #	Description	Units	Price	Amount
Note	55 Speedster		0.00	0.00
Double Locki	Pair of double locking drop down seat frames with welded hinges. Mounts to original factory location. Includes center tunnel cover and all hardware.	1	1,500.00	1,500.00
FG356 - Origi	Fiberglass Original Style Speedster seat shell.	2	550.00	1,100.00
Vinyl	Vinyl Upholstery (Per Seat)	2	1,100.00	2,200.00
	and edge binding. Bolsters:MBL-6876 EVERGREEN Piping:SAN-121 CREAM Inserts:MBL-6876 EVERGREEN Carpet:320 DRK GREEN Binding:YT-208 PALE GREEN			
Misc. Parts	Extra vinyl (yd)	5	20.00	100.00
Note	Customer visit 4900 on 6/21/24		0.00	0.00

I hereby authorize the repair work to be done along with the necessary materials. You and your employees may operate vehicle for purposes of testing, inspection, or delivery at my risk. An express mechanics lien is acknowledged on vehicle to ensure the amount of repairs thereto. You will not be held responsible for loss or damaged to vehicle including articles left in vehicle in case of fire, theft, accident or any other cause beyond your control. A storage fee of \$25 a day and \$50 inside per day will incur 30 days after completion of repairs. Unless other arrangements have been made.

Signature____

Sub Total	\$4,900.00
Sales Tax (1	\$0.00
Payments	\$0.00
Balance Due	\$4,900.00

SCOTT'S INDEPENDENT, INC.

1885 South Santa Cruz Street Anaheim, CA 92805-0000 (714) 634-2027 INVOICE: 024695 Page: 1 COMPLETED: 06/17/24 16:52

ADVISOR

ACCOUNT #: 12123

INVOICE FOR SERVICES

CUSTOMER:
ADDRESS:
CITY:

CELL:
WORK:

LICENSE 6M4 927-CA

VEHICLE 1955 Porsche Speedster

VIN #: 81085

MILEAGE: In:84735 Out:

TAG: EMAIL

The following parts were used on this service:

Quan. Part #	Description	Each	Total
1.00 IM HOOD	Hood Seal, IM	60.00	60.00
1.00 WAR SUMP	Sump, Willhoit 356/912	1175.00	1175.00
4.00 SWEPOIL	OIL, SWEPCO 20/50	13.25	53.00
2.00 616 104 951 00	GASKET, VALVE COVER WR	11.95	23.90
4.00 BP6HS	SPARK PLUG	6.75	27.00
1.00 999 192 006 50	BELT, GENERATOR	14.96	14.96
1.00 WF 51010	oil filter, wix 4cyl	33.00	33.00
1.00 616 101 380 00	STRAINER SCREEN	74.77	74.77
1.00 911 424 341 01	STRAP, GREY/BEIGE O.E.	6.96	6.96
2.00 999 706 005 80	Strap, Brake Cable - 220mm	24.75	49.50
1.00 616 101 380 00	STRAINER SCREEN	64.00	64.00
4.00 NLA 531 911 22	Seal, cabriolet door	34.46	137.84

The labor performed, and the charges, are:

Install Full LED kit Repair door handle MAke doors fit correctly Make hand brake function correctly COMPLETE SERVICE INCLUDES: Replace spark plugs, points, oil filter, valve cover and strainer gaskets and oil. Clean air filters or, if equipped with Zenith carburetors, replace air filters. Adjust valves, carburetors and timing. Inspect brakes, battery, lights, tire pressures and condition, transmission fluid level, wiper blades and door latches/locks. Inspect and lubricate suspension points. Add fuel treatment. Road test vehicle.	320.00 160.00 320.00 160.00 480.00
Diagnose suspension clunk Tighten all king and link pins	160.00
Remove studs and install deep sump	160.00
Remove and replace muffler	640.00
Slight modification to J tubes for fitment	
Remove hood and install new hood seal	800.00

SCOTT'S INDEPENDENT, INC.

1885 South Santa Cruz Street Anaheim, CA 92805-0000 (714) 634-2027 INVOICE: 024695 Page: 2

COMPLETED: 06/17/24 16:52

ADVISOR

ACCOUNT #: 12123

Reinstall hood and make hood fit Re-route and replace fuel lines Install door seals and fit doors

Taxable Non-tax

320.00

320.00

PARTS:	\$ 1	, 719 . 93	\$ 0.00	SUBTOTAL:	\$ 5,559.93	TOTAL:	\$ 5,69	93.22
LABOR:	\$	0.00	\$ 3,840.00	TAX:	\$ 133.29			
SUBLET:	\$	0.00	\$ 0.00	ENVIR:	\$ 0.00			
SUPPLIES:	\$	0.00		:	\$ 0.00	BALANCE:	\$ 5,69	93.22

A buyer of this product in California has the right to have this product serviced or repaired during the warranty period. All parts replaced and the labor performed are guaranteed to be free from defect for 6 months or 6,000 miles, whichever occurs first. The warranty period will be extended for the number of days that the product has been out of the buyer's hands for warranty repairs. If a defect exists within the warranty period, the warranty will not expire until the defect has been repaired. The warranty period will also be extended if the warranty repairs did not remedy the defect and the buyer notifies the manufacturer or seller of the failure of the repairs within 60 days after they were completed. If, after a reasonable number of attempts the defect has not been repaired, the buyer may return the product for a replacement or a refund subject in either case, to deduction of a reasonable charge for usage. This time extension does not affect the protections or remedies the buyer has under other laws.

Fibersteel

145 South Irwindale Ave Azusa, CA 91702 6263340404

info@fibersteel.com

Invoice	29850
Date	7/29/2024

Bill To	Ship To	

Part #	Description	Units	Price	Amount
Misc. Parts	Convertible Top Header Seal	1	135.00	135.00
K	Glasspar rear window, Molded clear Plexiglass	1	566.70	566.70
EF	Rear window upper and lower lock set (Black, white, or	1	73.95	73.95
	chrome finish)			
Y	Glasspar head liner, pre sewn, perforated Off- white vinyl.	1	760.50	760.50
	(steel bows sold separately)			
Misc. Parts	45mm Wheel Stud	10	12.00	120.00
Misc. Parts	50mm Wheel Stud	10	12.00	120.00
Misc. Parts	Mirror Opening Cover	1	10.00	10.00
Misc. Parts	Center Tunnel Inspection Cover	1	330.00	330.00
SC5.3 356 Pr	ID plate, Pre A	1	75.44	75.44
SC7 Made In	Made In Western Germany Plate	1	19.15	19.15
	Parts Subtotal.			2,210.74
LABOR, SER	Labor to modify, upholster, and install inspection cover	1.5	100.00	150.00
LABOR, SER	Labor to modify soft top	8	100.00	800.00
LABOR, SER	Labor to distress and mount mirrors	1	100.00	100.00
LABOR, SER	Labor to install glasspar window and headliner	6	100.00	600.00
LABOR, SER	Labor to wire brake light, fabricate mounting bracket, and	4	100.00	400.00
	install			
	Labor to install seat belts	0.5	100.00	50.00
	Labor to install push start switch	0.25	100.00	25.00
	Labor to install windshield rubber	0.25	100.00	25.00
	Labor to install wheel studs	2	100.00	200.00
	Labor to install side moldings	0.5	100.00	50.00
	Labor to fabricate battery cover	2	100.00	200.00
LABOR , SER	Labor to install vin plate and Made in West Germany	0.25	100.00	25.00
	Badge			2 (27.00
	Labor Subtotal.			2,625.00

I hereby authorize the repair work to be done along with the necessary materials. You and your employees may operate vehicle for purposes of testing, inspection, or delivery at my risk. An express mechanics lien is acknowledged on vehicle to ensure the amount of repairs thereto. You will not be held responsible for loss or damaged to vehicle including articles left in vehicle in case of fire, theft, accident or any other cause beyond your control. A storage fee of \$25 a day and \$50 inside per day will incur 30 days after completion of repairs. Unless other arrangements have been made.

Signature____

Page 1

Sub Total
Sales Tax (1
Payments
Balance Due

Fibersteel

145 South Irwindale Ave Azusa, CA 91702 6263340404
 Invoice
 29850

 Date
 7/29/2024

info@fibersteel.com

Bill To	Ship To

	_			
Part #	Description	Units	Price	Amount
Discount	\$700 credit applied from Invoice #29710		-700.00	-700.00
Discount	Good customer pricing		-335.74	
Note	Customer visit 8/22/24 - \$3800		0.00	0.00

I hereby authorize the repair work to be done along with the necessary materials. You and your employees may operate vehicle for purposes of testing, inspection, or delivery at my risk. An express mechanics lien is acknowledged on vehicle to ensure the amount of repairs thereto. You will not be held responsible for loss or damaged to vehicle including articles left in vehicle in case of fire, theft, accident or any other cause beyond your control. A storage fee of \$25 a day and \$50 inside per day will incur 30 days after completion of repairs. Unless other arrangements have been made.

Signature____

Page 2

Sub Total	\$3,800.00
Sales Tax (1	\$0.00
Payments	\$0.00
Balance Due	\$3,800.00

Thomas Pocius Upholstery



Date: Oct 15, 2024

Bill To:

Balance Due: \$6,000.00

Item	Quantity	Rate	Amount
Installation of Interior + Carpet Materiel	1	\$6,000.00	\$6,000.00
	Sul	ototal:	\$6,000.00
	Tax	(0%):	\$0.00
		Total:	\$6,000.00